September 04 2014 haa.gwb - 1/5 - Thu Sep 04 2014 13:21:52

g Pearson SuccessMet - Google Chrome

[ www.pearsonsuccessnet.com/snpapp/learn/navigatel DP.do?method=vlo&internalld=131114100000030&isHtmI5Sco=false&fromTab=DONETAB#
2-10: Solving Systems Using Matrices c” 4 J 4
Launch Practice Self Assessment fc/ Wi

Problem 1 2 3 4 5

ol ) _
el A ET N identifying a Matrix Element : |E| ‘@ =

GRIDDED RESPONSE What is element ayin matrix A? B
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(S
201G Representing Systems With Matrices

() How can you represent the system of equations with a matrix?

Step 1 Write each equation in the same variable order. Line up the
variables. Leave space where a coefficient 1s 0.

Start with the first equation. x — 3y + =
Write the second equation. x (+Qy + 3=z
Write the third equation. Gather 5x + y 4 02
the variables on the left side.

Step 2 Write the matrix using the L =3
coefficients and constants. The matrix 1 0
Notice where the coefficients -

O

are 1's and 0's.

o
L
1)

x—3yv+z=6
x+3z=12
y=-bx+1 =» Sx+y=|

4]
12
1

6
12
1

represents the system.

dioot12Pp
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5) x—6z=—4 X oy -tz =-y 6) Sr—S5s+1t=-22 S¢e-5s ¢t =-22
—6x—S5y+3z2=24 7 “Cx-5y+32 =2y r+4s—3r=06 — CF 4S5 -3 =<
2x =35y —6z=-8 AR =Sy -2 -3 3 —3r=-0 =3r +0S -~ 3 = -6

Stepl: Set vp matrix

|00 |y § -5 1 | -3 100
A=I_'<_f'; ':.f' ;,:] ~ rref(A) - [ o |o\ok B=| ¢ 3 -‘; — cref(B) = (:;‘:\3
a-s s e T ey yee, 250 oo X3k ¥mY, 2l

7) Experiments have shown that cars (C), trucks (T). and trams (R) emut different amounts of air poilutants. In

one such expermment, a truck emitted 0.8 Ib of carbon dioxide per passenger-mule and 1 g of nitrogen oxide

per passenger-mile. A car enutted 0.7 1b of CO2 per passenger-mile and 0.9 g of NO per passenger-mile.

A tram emitted 0.5 Ib of CO2 per passenger-mile and 4 g of NO per passenger-mile. A total of 141 m1 was

driven by the three vehicles, and 82.7 Ib of CO2 and 424.4 g of NO were collected. Identify the variables

and set up a system of equations to represent this situation.

8) The sum of three numbers 1s 24. Twice the smallest number is 2 less than the largest number, and the largest
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